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EA EAGBDASE _ ERELOREE -
= = TREE (ZHREXFER) — fa RITEDELR
S=E  AE | 5EH 628 X K5 Ak mum | e (ROLOEE
Eﬁ, ﬁ 5—64 528,600 2/ 30,000 | 42.4125 (48.75%87/100) | 6X 4601 3,249,000 26,940,623
&IE& 5—64 529,000 2/ 30,000 | 40.8038 (48.75x83.7/100)| 6X4%>-601 3,249,000 26,058,296 A 882326
< AR (HBEB4R) HHKE30F EEER>
ey EAGOTREE _ ERTLOHEE _
THRENE (THAE x SARER) FOEE IR{TEDEEZE
2=E  AE | AZN BEA ) KAk | mmm | em |ROCOZM
Eﬁ, ?ﬁ' 4—91 454 500 2| 25,400 | 42.4125 (48.75%87/100) | 8X4%>-60H 1,950,000 22,303,759
&IE& 4—91 454,900 2| 25,400 | 40.8038 (48.75x83.7/100)| 8X 4604 1,950,000 21,548,041 A 755718
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A EABOAEE _ ERELOREE -
= = TREE (ZHREXFER) — fa RITEDELR
S=E AE | 5E5 628 X K5 Ak mmm | e (ROLOEE
4= 7Eﬁ'48ﬁ
Eﬁ, 17T 6—53 400,600 4959 (57 X 87/100) SEX’\- 12 E 2,470,800 22,336,554
&Efﬁ 6—53 401,000 47.709 (57 x 83.7/100) ;Eg?gg 2,470,800 21,602,109 A 734445
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e EABOREE _ ERTLOHEE _
= = THRENE (THAE x SARER) = FOEE IR{TEDERE
%=E  AE | AEm BEE ) KAk | gmm | em |ROCOZM
Eﬁ, ?ﬁ' 5—64 382,100 4959 (57 X 87/100) g%g?gg 1,885,200 20,833,539
a 8X/»-48H
&E{i 5—64 382,500 47.709 (57 x 83.7/100) QIZ;:I}- 128 1,885,200 20,133,893 A 699,647
<GE(—HBE (A)45R) %355 EE B>
EA EAB DAL _ ERELOREE -
= = TREE (ZHREXFER) — fa RITEDELR
B=E  AE | 5=5 628 X K5 Ak mmm | e (ROLOEE
Eﬁ, ﬁ 4—67 367,500 4959 (57 X 87/100) 9X4+-60H 1,626,000 19,850,325
&Efﬁ 4—67 367,900 47.709 (57 x 83.7/100) 9X4+-60H 1,626,000 19,178,141 A 672,184
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EA EAGORRE _ ERTLOHEE _
= = THRENE (THAE x SARER) = FOEE IR{TEDERE
2=E  AE | AZN BEA ) KAk | gmm | em |ROCOZM
Eﬁ. ?ﬁ' 4—89 346,500 2/ 19,400 4959 (57 X 87/100) 10X %+60H 1,302,000 19,446,981
&IE& 4—89 346,900 2/ 19,400 47.709 (57 x83.7/100) |10X%-60H 1,302,000 18,777,807 A 669,174
<EBEE(EERE(B)4#) E&i35%E E5 BB >
EA EABORRE _ ERTLOHEE _
= = THRENE (THAE x SARER) = FOEE IR{TEDERE
9=E  AE | AZm BEA ) KAk | gmm | em |ROCOZM
Eﬁ, ?ﬁ' 4—110 373,500 4959 (57 X 87/100) 9X 4608 1,626,000 20,147,865
&IE& 4—110 373,900 47.709 (57 x 83.7/100) 9X 4608 1,626,000 19,464,395 A 683,470
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